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— RE|EI NV AEEAT. BRA TR BERARRES ., MRIA (KT H
B/ R B AREM E N &) (T #B AN (2011) 300 5), A4 4%+ T
ﬁmiﬁr% E | AR Ak

RAERERNE A PR AR EAE RN E R E AR AW
%AAkjﬁqu%IﬁFﬁﬁxﬁ&ﬁﬁm

SOABEEAGEAE R K 4. Eml, XFk, FlE, B A
WMABAKEFRER Y, Zfl, AT EN, KEZH, SEMEE A,
fEE BRI, FEEFR. WHEFAEERARS L, FH=l, HFEAE SR
i, BEFARMEARSE Y, KA, FERAELZHEEEY, ERRE. #
B HE RS, S R E AR R % 15 MTWTEURE S THETL A %,

W, AApEERATILITER, AR, FRMHAAGKA, KEALAR. ElK
AN, HERFFRTIBENRER, FRENL LXK AR, A N B
A& mh XA, EARR A LI & 7

B,V EBRFEeRITHIIREZITFREFHL K, THT
W _EABATRHE,

XL KAk EE 2 BRI, ERGE 2003 A (Gt imz

AA VXIS AFEEAT) (EHF (2003) 17 5)E A E Uk,

X4k
AT b 4 AR AT 4 AR TEEML A N e
KM M. B Z b gk )\ (Y) Vil 500=<Y<20000 50=<Y<500 Y<50
Ml A B (X) A 300=<X<1000 20=<X<300 X<20
T
i A (Y) Vb 2000=<Y<40000 300=Y<2000 Y<300
Ak dk A (Y) Vil 6000<Y<80000 300<<Y<6000  Y<300
AN
K EE(2) H TG 5000=<7<80000 300=7<5000 7<300
HE Mk A B (X) A 20=<X<200 5<X<20 X<5
Al dg A (Y) Vb 5000=<Y<40000 1000=<Y<5000  Y<1000
Ml A B (X) A 50=<X<300 10=<<X<50 X<10
FEL
g A (Y) Vb 500=Y<20000 100=<Y<500 Y<100
Ml AR (X) A 300=<X<1000 20=<X<300 X<20
2 38 35 iy
b gk )\ (Y) Vil 3000=<Y<30000 200<Y<3000 Y<200
Mk AR (X) A 100=<X<200 20=<X<100 X<20
i
Z b gk )\ (Y) Vi 1000<Y<30000 100<Y<1000 Y<100
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